6EMHFE66-1165HERIILSE Bih
ST

O @A @A (OLY) ®rFEHT ©294 D294 @HEFH Ak
2.90 + 1060 + 0.00 + 360 + 775 + 1620 + 520 + 10.00 = 56.25
it = 56
SEERRIEHIRGA (As)

@O @/ @A (OLY) (GLY) ©294 D294 @HEFH Ak
176.954 + 422,671 + 161.900 + 72,181 + 315412 + 407.333 + 62.768 + 15.120 = 1634.339
REME = 1630

R IE3. LA (2 A) FAE LHGE B IRE — T —
O @A @A @rh T ®rFEHT ©294 D294 @HHFH Ak
0.000 + 15.883 + 129.660 + 0.000 + 66.535 + 36.939 + 0.000 +  0.000 = 249.017
REME = 249

RpEREES. 1L - (R A)

O @A @A (OLY) ®rFEHT ©294 D294 @HHFH Ak
176.954 + 406.788 + 32.240 + 72,181 + 248877 + 370.394 + 62.768 + 15.120 = 1385.322
REME = 1380
EREREAE T

O @/ @A (OLY) (GLY) ©294 D294 @HEFH Ak
0.000 + 0.000 + 0.000 + 0000 + 0.000 + 0000 + 0.00 + 0.000 = 0.000
P— BE Y = 0

O @A @A (OLY) ®rFEHT ©294 D294 @HHFH B
0.000 + 0.000 + 0.00 + 0000 + 0.000 + 0000 + 0.00 + 0.000 = 0.000
ST (FAS) 3.0 r ’
@A @A @Al @ snT (GLI ) ©294 @294 (OFEia= &t
176.954 + 422.671 + 82940 + 72181 + 300.072 + 370.394 + 62.768 + 15.120 = 1503.100
aHE = 1500

HET (%As)  HiE1.4~3.0

Ol @Il @HIlI  @FEFERT OHEET ©294 @291 ®FHH Gt
0.000 + 0.000 + 78.960 + 0.000 + 15.340 + 36.939 + 0.000 +  0.000 = 131.239
A = 131

ST GHRIAS) AR 1ARS

[©]=11 @Al @A @iy (GLI) ©294 @294 ®@HEH a8
0.000 + 0.000 + 0.000 + 0000 + 0000 + 0000 + 0.000 + 0.000 = 0.000
A = 0
FRIERALER (As t = 15cm)
@A @A @Al @ EHT (GL) ©294 D294 (OFEia= &
8.848 + 21.134 + 8.095 + 3.609 + 15771 + 20.367 + 3.138 +  0.756 = 81.72
A = 81
X R E% (G 15em) TR, SRR
@A @A @Al @ T (GL) ©294 D294 (OFEia= &
0.000 + 0.000 + 0.000 + 0.000 + 0.000 + 47.000 + 0.000 +  0.000 = 47.0
REME = 47

IR A% (SR - BE 4+ 307 Y- 1k FEh

@O @A @A (OLY ®rFEHT ©294 D294 @HHFH B
0.000 + 0.000 + 0.000 + 0000 + 0.000 + 13.400 + 13.400 +  0.000 = 26.8
B = 26
I R (R4 o) BIASE  + 1RIEgR
O @A @A (OLY ®rFEHT ©294 D294 @HHFH Ak
0.000 + 0.000 + 0.00 + 0000 + 0.000 + 2000 + 1600 + 0.000 = 3.6
i = 3

IR AR (AR 30cm)

@A @A @Al @ T (GL) ©294 D294 (OFEia= At
0.000 + 0.000 + 0.000 + 0.000 + 0.000 + 3.000 + 0.000 + 0.000 = 3.0
A = 3

5.



6EHF66-1165MEBFIITE
YN T
O]t O JLHT @ 5T @294

0.00 + 8.80 + 5.30 + 0.00

AHEERRIEHIRGA (As)
©]=)iT O JFLHT @ 5T @294

328.596 + 106.353 + 68.751 +  75.652

AR IES. 1A (i e )
(©]=iT @ JLHT @ 5T @294

167.943 + 0.000 + 68.751 + 0.000

REEHEIES. 1PL E (il 2 A)
©]=)iT @ JFLHT @ 5T @294

160.653 + 106.353 + 0.000 + 75.652

T (#As)  HLE3.048
(©]=iT @ JLHT @ 5T @294

208.051 + 106.353

+

0.000 + 75.652

ST (F%As)  BE1.4~3.0
O]t O JLHT @ 5T @294

120.545 + 0.000 + 68.751 + 0.000

IEHRALER (As t= 15cm)
@A @Iy @Iy @294

16.430  + 5.318 +  3.438 + 3.783

X [ R % (SRR 15 0m) SR
O]t O JLHT @ 5T @294

0.000 + 0.000 + 0.000 + 0.000

KE#RERE R R 307 A 1kFEh
O]t O JLHT @ 5T @294

0.000 + 0.000 + 0.000 +  13.400

X [ R 1 (R AR AR5 cm) BT AE  + IR
O]t O JLHT @ 5T @294

0.000 + 0.000 + 0.000 + 1.600

i

i

By

Rt

i

By

i

By

i

At



Hil4aTH (BP1) Bl
H] 5 (No.) EE (m) F¥(m) ER (m) PEER (m°) A ()
BP1 2.900m
3.100m 6. 000m 18. 600m?2
BP1+6. 00 3.300m
BP1+6. 00 3.650m
3.625m 8.500m 30.813m?2
BP1+14. 50 3.600m
BP1+14. 50 3.500m
3.450m 5.500m 18.975m?2
Nol 3.400m
3.450m 20. 000m 69. 000m?2
No2 3.500m
3.500m 12. 800m 44. 800m?2
No2+12. 80 3.500m
No2+12. 80 4. 100m
4.075m 5.500m 22.413m?2
No2+18. 30 4.050m
No2+18. 30 3.400m
3.400m 1. 700m 5.780m?2
No3 3.400m
3.425m 11. 000m 37.675m?2
No3+11. 00 3.450m
]
ARt 71.102m2 176.954m2
Hil4aT H (BP1)  Eigm
Sl RRCE T T 2.90m +
+ = 2.900m
REEIEE 3. IR EMBH D)
REEHEE 3. 1LLEHEMH ) 176.954m?2
FET 1.4~3.0m =
FET 3.0miB = 176. 954m2
S AsHi 176.954m2 X 0.05m = 8. 848m3

PRIEHRAS A E
15 1k %

XEIFR20 41 ¥

RE#R15  J4kie




PR AT AR E

fiz kAR
X0 A ¥
X155k

M4 T E (BP2~BP5)  Hijl
I A (No.) A (m) ¥ (m) JEE (m) R (%) Mg ()
BP2 4.300m
4.200m 17.700m 1.482m?2 72.858m?2
BP2+17. 70 4.100m
BP3 5.500m
4. 650m 2.000m 9.300m2
BP3+2. 00 3.800m
3. 600m 2.200m 0.384m2 7.536m2
BP3+4. 20 3.400m
3. 450m 15. 800m 54.510m?2
Nol 3.500m
3.900m 1.200m 4.680m2
Nol+1.20 4.300m
BP4 3.200m
3.175m 20. 000m 0.948m2 62.552m?2
Nol 3.150m
3.125m 20. 000m 0.282m2 62.218m?2
No2 3.100m
3.050m 5.300m 0.282m2 15. 883m2
No2+5. 30 3.000m
BP5 3.000m
3.400m 12.950m 0.831m2 43.199m?2
BP5+12. 95 3.800m
BP5+12. 95 3.400m
3.550m 4.250m 15. 088m2
BP5+17. 20 3.700m
3.900m 1.100m 4.290m2
BP5+18. 30 4.100m
4.950m 2.150m 0.038m2 10. 605m2
BP5+20. 45 5.800m
BP5+20. 45 7.100m
7.100m 0. 850m 6.035m2
BP5+21. 30 7.100m
BP6 3.300m
3.300m 12.100m 1.128m?2 38.802m?2
BP6+12. 10 3.300m
[ ]
a b c
=0 2.900m 3.300m 1. 600m 2.319m2
s=1/2 (atb+c) = 3.900
S={ s(s—a) (s-b) (s—¢c) = 2.320
a b c
=AEO 3.300m 3.100m 1.200m 0.360m2 1.859m?2
s=1/2 (a+b+c) = 3.800
S=/ s(s-a) (s-b) (s—¢) = 1. 860
a b c
=IO 1.500m 1.500m 1.500m 0.974m2
s=1/2 (atb+c) = 2.250
S={ s(s—a) (s-b) (s—¢c) = 0.974
=y 0] 3.100m 2.500m 5. 750m 0.402m2 16. 100m2
A it 6.137m2 422.671m2
HIl4TH (BP2~BP5)  Bijilt
=R O T 4. 30m + 3.30m + 3.00m
+ + + 10. 600m
REEHEIE (3. LRIl Hv) = 15. 883m2
TREEHIE 3. I LM B V) = 406. 788m2
FEL 1.4~3.0m =
FEL 3. 0mi#E = 422.671m2
) AsBl 422.671m2 X 0.05m = 21. 134m3




HIU4T H (BP7~BP8)  Hijh

] (No.) EE (m) ¥ (m) LR (m) PERR (m?) T A% (n”)
BP7 2.800m
2.650m 3.100m 0.025m2 8.190m2
BP7+3. 10 2.500m
BP7+3. 10 3.200m
3.000m 16. 900m 50. 700m2
Nol 2.800m
2.400m 20. 700m 0. 050m2 49. 630m?2
Nol1+20. 70 2.000m
BP8 3.300m
3.100m 10. 400m 32.240m2
BP8+10. 40 2.900m
BP8+10. 40 2.600m
2.350m 2.900m 6. 815m2
BP8+13. 30 2.100m
BP8+13. 30 2.400m
2.400m 6. 000m 14. 400m?2
BP8+19. 30 2.400m
[
At mfE 0.075m?2 161.900m?2
M4 TH (BP7T~BP8)  Hijt
AR DI T 0.00m
+ + + = 0. 000m
REFEE (3. LRMEHM &) = 129. 660m?2
REEEEIE (3. 1L e H ) = 32. 240m2
FBET 1.4~3.0m = 78.960m 2
FET 3.0mEB = 82.940m?2
EAEOR AsBiL 161.900m2 % 0. 05m = 8. 095m3

PEHRAS BRI AE
{5 1 #

XE#R20 ZA ¥

PCHIRLE W A




thJEET (BP1)  EEAM
H] 5 (No.) EE (m) ¥ (m) LR (m) PERR (m”) A (%)
BP1 3.600m
3. 850m 17.700m 68. 145m?2
BP1+17. 70 4.100m
a b c
— A0 4.100m 3.300m 5.000m 6.731m?2
s=1/2 (a+b+c) 6. 200
S=J s(s—a) (s—b) (s—c) 6. 731
At mfE 2.695m2 72.181m2
FRJFET (BP1)  BAgM
AR DI T 3.60m +
N + - 3.600m
REEILIE (3. IRTA 2 & )
REEEEIE (3. 1L B H V) 72.181m2
FBET 1.4~3.0m —
*ET 3.0mE = 72.181m?2
EAEOR AsBiL 79.181m2 % 0. 05m = 3. 609m3
KHEHRA5 AR
51 =
KHEHR20 & A ¥ =
X5 Akt




thJFET (BP2~BP3)  Eifh
1 5 (No) HE (m)  F¥J(m) #EE (m) PERS () g (m?)
BP2 3.950m
3.950m 13. 500m 0.905m?2 52.420m?2
BP2+13. 50 3.950m
BP2+13. 50 3.000m
3.175m 6. 500m 20. 638m?2
Nol 3.350m
3. 350m 0. 600m 2.010m?2
No1+0. 60 3.350m
No1+0. 60 3.600m
3.625m 4.100m 14. 863m?2
Nol+4. 70 3.650m
Nol+4. 70 4. 000m
3.975m 11. 000m 1.338m?2 42.387Tm?2
Nol+15. 70 3.950m
3. 500m 4. 300m 15. 050m?2
No2 3. 050m
3.025m 5.950m 17.999m?2
No2+5. 95 3.000m
No2+5. 95 3.950m
3. 950m 3. 150m 12.443m?2
No2+9. 10 3.950m
No2+9. 10 3. 050m
3. 050m 10. 900m 0.049m?2 33.196m?2
No3 3. 050m
3.175m 5. 700m 0.988m?2 17.110m?2
No3+5. 70 3.300m
BP3 3. 700m
3.250m 20. 000m 65. 000m?2
Nol 2.800m
2.950m 5.200m 15.340m?2
Nol+5. 20 3.100m
Nol+5. 20 2.400m
3.100m 3. 500m 0.307m?2 10. 543m?2
Nol+8. 70 3.800m
[
A EHEAE 3.587m?2 315.412m2
tRJEET (BP2~BP3)  Hijh
ARG T 3.95m  +  3.80m  +
+ + + = 7.750m
REEETE (3. IRMEM & Y) = 66. 535m2
REEHIE (3. 1L EMEMH ) = 248.877m?2
FET 1.4~3.0m = 15. 340m2
BT 3.0mi@ = 300. 072m2
ShdEBL AsBit 315.412m2 X 0.05m = 15.771m3

RS bR
P ik

K20 44

RS Ak




Hib4 T H294 (BP1~BP2) HM
HAMNo)  EAE(mM) F¥(m) FEE (m) PR () T ()
BP1 2.600m
2.600m 7.400m 19.240m?2
BP1+7. 40 2.600m
BP1+7. 40 5.600m
5.275m 12. 600m 2.250m?2 64.215m?2
Nol 4.950m
4.275m 20. 000m 0.564m?2 84.936m?2
No2 3.600m
3.625m 26. 650m 0.358m?2 96. 248m?2
No2+26. 65 3.650m
BP2 3.500m
3.600m 4. 100m 1.609m?2 13.151m?2
BP2+4. 10 3.700m
BP2+4. 10 3.400m
3.250m 15.900m 0.101m?2 51.574m?2
Nol 3.100m
3.400m 20. 000m 1. 334m?2 66. 666m2
No2 3.700m
3.775m 8.500m
No2+8. 50 3.850m
a b c
—“AFEO 16. 500m 16. 500m 2.150m 0.180m?2 17.699m?2
s=1/2 (a+b+c) 17. 575
S=J s(s—a) (s—b) (s—c) 17.700
EEERE 6.396m?2 407.333m2
M4 T H294 (BP1~BP2)  Hijh
L 7 BT T 2.60m +  2.15m 3.50m
+  4.10m +  3.85m = 16. 200m
REEHEE (3. IRMHEMH V) 36.939m?2
REEEE G 1L e H D) 370. 394m?2
#BT 1.4~3.0m = 36. 939m2
#BT 3.0miB = 370. 394m2
R AsBlL 407.333m2 X 0.05m = 20. 367m3
EER AmAi 115 AT = 13.4m
XEHRAS TR = 3.0m
1 1k = 2.0m
KWE#R20 5 1 % _
KEHR15 kA =
SR = 47.0m



H14T H294 (BP3)  Hij
I = (No.) EE (m)  F¥(m) LR (m) PERR (m?) A% (n”)
BP3 3. 700m
3.475m 16. 800m 58.380m?2
BP3+16. 80 3. 250m
a b C
=AEO 3.250m 5.200m 3.000m 4.502m?2
s=1/2 (a+b+c) 5.725
S=/ s(s—a) (s-b) (s—¢) 4. 502
At 0.114m?2 62. 768 m2
Hil4aT H294 (BP3)  Hijm
EEERRGIT T 5.20m +
N . = 5.200m
REEFEE . LRH#iEMH D) =
AEEEEIE (3. 1LLE@RMH ) 62. 768m2
=BT 1.4~3.0m —
*BT 3.0mE = 62. 768m2
AL AsHi 62. 768m2 X 0. 05m = 3.138m3
EENn L& AT = 13.4m
XH#RA5 AR =
= 1k = 1.6m
XHE#HR20 &' A ¥ =
XHERRLS  W ke




FER3TH M

DXIEERAS AT E

145
KE##20 #A ¥
KGRI AH

I = (No.) ) (m) LR (m) PERR (m?) A% (n”)
=iA0), 4. 600m 4. 800m 15. 120m?2
EEtmE 15. 120m?2
FEHE3TH  HM
EfEERRED T T +
+ = 10. 000m
REEIEE (3. IREHHEMH D) =
REEFEE G 1L EfEMH V) 15. 120m2
#FETL 1.4~3.0m _
#BEBT 3.0mE = 15. 120m?2
i) AsBh 15.120m?2 X 0.05m = 0. 756m3




Hili4T B (BP1~BP2)

fiidh

PRRRLS  {H Jcds

M 5 (No.) HE (m) ¥ (m) LR (m) PE () A% (m”)
BP1 2.900m
2.825m 20. 000m 0.564m?2 55.936m2
Nol 2.750m
2.625m 4. 300m 0.282m?2 11. 006m?2
Nol+4. 30 2.500m
Nol+4. 30 4. 000m
3. 800m 5.400m 20. 520m2
Nol+9. 70 3.600m
Nol+9. 70 3.000m
3.100m 10. 300m 31.930m2
No2 3.200m
3. 000m 16. 000m 0.602m2 47.398m?2
No2+16. 00 2.800m
BP2 4. 350m
3.550m 17.800m 63. 190m2
BP2+17. 80 2.750m
BP2+17. 80 4. 000m
3.900m 2.200m 8.580m2
Nol 3.800m
3. 850m 10. 300m 39. 655m2
No1+10. 30 3.900m
No1+10. 30 2.600m
2.475m 9. 700m 0.990m?2 23.018m2
No2 2.350m
2.625m 11.950m 0.784m?2 30. 585m2
No2+11. 95 2.900m
[
At miE 3.222m?2 328. 596m2
M4 T H (BP1~BP2)  #HBh
SR T +
+ + = 0. 000m
RNEEEE (3. IR EM H V) 167.943m?2
RNEEEE B 1L LM H D) 160. 653m?2
#BET 1.4~3.0m = 120. 545m2
*ET 3.0m = 208. 051 m2
HiEHL AsHl 328.596m2 X 0.05m = 16. 430m3
XEHR45 R AE =
15 11 —
XE#R20 & A ¥ -




DRIEHRAS AT E

P LA
KE20 44

X5 Akt

HHEET (BP1~BP2)  ff#iBh
] (No.) EE (m) ¥ (m) LR (m) PERR (m”) T A% (m”)
BP1 5.400m
4.225m 3.300m 13.943m?2
BP1+3. 30 3.050m
3. 150m 13. 450m
BP1+16. 75 3.250m
BP2 5.400m
4.325m 2.100m 9. 083m2
BP2+2. 10 3.250m
3.325m 25.900m 86. 118m?2
BP2+28. 00 3.400m
[
At mfE 2.791m?2 106. 353m?2
FRJEURT (BP1~BP2)  #lilh
AR DI T 5.40m  +  3.40m
. = 8.800m
REEILIE (3. IRTA 2 & )
REEEEIE (3. 1L B H V) 106. 353m2
FBET 1.4~3.0m —
FET 3.0mi# = 106. 353m2
B AsH 106.353m2 X 0.05m = 5. 318m3




1R HT (BP3)  AfdiBh
I (No.) mE (m) ¥ (m) EE (m) P (m) i (m%)
BP3 2.600m
2.525m 27.800m 70. 195m?2
BP3+27. 80 2.450m
a b c
=AFO 2.450m 2.700m 1.100m 1.347m2
s=1/2 (a+b+c) 3.125
S=/ s(s—a) (s-b) (s—¢) 1.347
AEtmfE 2.791m2 68. 751 m2
FRIEET (BP3) i)
SfFE AR T 2.60m + 2.70m
N - 5.300m
REEIEE (3. IRMEMH V) 68. 751m2
REEFEE . 1L EMEMH V)
£BT 1.4~3.0m = 68. 751 m2
KRBT 3.0mi8 —
EhLEsl AsHlL 68. 751 m2 X 0.05m = 3. 438m3
XHE#R45  FEBT AR E
8114 =
KE#20 41 ¥ _
KHEHR5 Pk




H14T 294 (BP1) #iiBh
I (No.) EE (m) ¥ (m) ER (m) PEf (m) TS (m%)
BP1 3. 550m
3.375m 14. 200m 47.925m?2
BP1+14. 20 3.200m
BP1+14. 20 3.600m
3.650m 3.800m 13.870m?2
BP1+18. 00 3. 700m
[
a b c
=AEO 5.100m 6. 250m 3. 550m 9.051m2
s=1/2 (atb+c) 7. 450
S=J s(s-a) (s-b) (s—c) 9. 052
a b c
—AEO 6. 250m 7.000m 1.800m 5.370m?2
s=1/2 (atb+c) 7.525
S=J s(s-a) (s-b) (s—c) 5. 370
EEtmE 0.564m?2 75. 652m2
Hi4T H294(BP1)  4iBh
AT BT T
+ = 0.000m
REEEEIE (3. IR EM H V) =
REEFEE G 1L EHEMHD) = 75.652m?2
FBET 1.4~3.0m =
#BEBT 3.0mE = 75. 652m2
HitEs AsBh 75. 652m2 X 0.05m = 3.783m3
kEhn 1&g = 13. 4m
XERR45 BRI =
5 1R = 1.6m
KWE#R20 41 ¥ —
XHEHRS 3 ke




